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Zd�7 V��9�F�% *��F$��(A =7 1+2���3�� 45��6� *��F������ ;� *�+�FP������ V3� $��AF��F 4��0F =%
*���K0 � ��F���� *���QR $���
 V�A �;���� =7 ��% ���93� =6��A �� # �8 �	:� �/+��� ����[�F�� ��
P�:� � �8 *���K0 T�-�� sKA�� ��Y�� =% W9� =+QR Z� ;� �A�KS� J*�F=8�(� �� �8 U���?F�� =�-��? �8
t ruUV�� ���� =.��� �� T����� 1+2���3�� 45��6� *��F������ ;� �-�% *��FO��0 *��% �C-�+L �9����%
ei-�% �9����% $���R ��� VH�� �Y� �� �C- *��F������ ;� ��+�6A $���
 =% $��AF�� �� ����F������ T+�d
�	+2���3�� 45��6� *��F������ *F=��Y� =68�C� =% =���F$���� T�� �� UV2+� �C- 1KR �9����% *��F$���R
O��0 $�+% $�
�� =7F*��aF=% J��?F�� =�-���� ����[�F�� �� v �?�% �C-�+L V�� T
��w �9����% 1:� =7
�% J���F�� �� =% �� ���� *�F=��� *��FO��0 ;� ����F=
��,� X��� �% J�9����% B%�A ��H =% ������ ����

45��6� ��% T�� ��d ��UW+%�+% ����[�F�� �� �	:� T+�d =7 ����F������ *��% �H�7 � �;5 s���? =7 �+�� T��

UW��F=�H�� �Y� �� /+� �� �./0 4�(��� �% 1+2���3��
�8 �K0 s��A ���& V��% *��F������ J��% ���� $�+% *;���� VR� xC� �% �8 =+QR =��Y� ��� ��<
*F=	y2� �% =	y2� ����� ;� *��+2% �� � ��?F�� ���n �
�/+H 1.�2� �� 4�R�� k	L� =7 ��?z]�� �n����
e�a Z� ;� �AF���� 1.�2� =% >��7 g�� �� �� �% �� �� =	y2� T�� UV�� sKA�� �n���� �8 ���� �� *����
=��Y� X����% *�K0 *��FZ+�
A �-�% 1��? � V�� ��? �H�6� q T���� � ! *� s��A =7 J���� g�� �

U�;��F�� ��?& ���� e�a ;� V�� �8 *���K0 � ��F����
V90 ��? =�-��? *����7 � ����� ��0� �8 =+QR �� �a�? V�2R ;� �(+R� 4�KS� W+���F�� =7 �,�& �A
=���F$���� T�� �� U��?�%F�� t#J#pu B0��� �� ��? h�C� {�% $��� j+R� ����� 4�KS� Z� =% �%�+���
=7 V�� $& *F����� $��� T����+L ������ Z� *��FO��0 *��% �9����% 1:� ��0� =7 W+��F�� $���
$���
 =% �� b�H 1:� UV�� �9����% 1:� ;� ;��FW� �3��6A X����% $& 4�KS� U���� ���� ���H ������
*�� ;� UW��+�F�� �Y� �� V�� ��? *��%FP���H ���� ��aF=% =���� �� =7 ����F����� �-�% �% *��%FN�% Z�
*��% �9����% B%�A ����
� ���� �� �K	C� |+� �K��(A � ���� $�+% ��
 � 1��7 ��a =% X�
6� V�2R J����
4��3�� �9����% B%�A �� t ru �� � V�� ��? �7} P�~� Z� t  u �� �9�A UV�� ���� =�3� ��F������ T��
*��%FN�% $�@(� �6% �	:� *F=�
� J�����F�� P��� T�� *��% �%��0 =% �� �� `���� T�� UV�� ��? z]��
*��F$��+� �8 �K0 1�
 =7F����; J$�@(� �6% UV�� *����% *��F$��+� ;� ���& V��% �8 �K0 ;� ��? =�-��

#
!
q



# k8�C� V��9H

UV�� W9� ��+2% V2+� *�6�� =+8�� �	3+�� *�� *����%
*��% �� 1:� T�� $��AF�� �9����% 1:� ;� ;��FW� \��6A =0�A �% =7 �? ����- ���� $��� V��9� ��

U��% ��
% /+� �./0 1+2���3�� 45��6� *��F������
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��'���2�	 3 4���5�

����� �
���� G����� 6H6
$��AF�� �� *��+�% k8�C� � V���?& ���	3+�� *��+�% k8�C� �% ������- =7 V�� $& �% ��H 1@H T�� ��

Ut 'u VH�� B0��� ��
���R�% ��; s���? ����� W+��� *�6%�n I�E%.%	%J �C���� Z� �� M Z�M�8���A *�QH H6H6H6 K��>J

�?�%

=7F*��aF=% ��?�% =�?�� ��0� M ;� V � U ;�% *��F=
��,� ��; ��6� J�?�%  e������ M �

p ∈ U, q ∈ V , U ∩ V = ∅.

U�?�% ��� ��� *����? M �
��; Z� �% e����y�� ����2�� Z� �� P���� $& =C(� �� ��6� J�?�% n �6% ;� ���+	R� �6���M �

U�?�% Rn ;� ;�% =
��,�

*��F=
��,� ��; /+� �� Vα � M�	3+�� *��F=
��,� ��; ;� ����? *�F=����� {Uα}α∈I W+�7F�� ��H
�� (Uα, ϕα) ���F$& �?�% W2+H����y�� ϕα : Uα −→ Vα � ∪α∈IUα = M ��� U��?�% Rn ;� ��K�� ;�%

UW+���F�� M �	3+�� *�� �J�F
L� 4��,
V?��� ��?�% M �	3+�� *�� 4��d �� (V, ψ) � (U,ϕ) ��� P�<

ψ ◦ ϕ−� : ϕ(U ∩ V ) −→ ψ(U ∩ V )
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ψ ◦ ϕ−� ����� W+���F�� �� '�� ��%8� ��aF=% �� b�H 4��d �� UW+���F�� ψ =% ϕ ;� �M ���D� ��
�� =% �� A *�Q
� ����� W+���F�� M*�� NCO� �� A = {(Uα, ϕα)}α∈I =
��,� U�?�% W2+H����y3��
��
P�� U�?�K� *���� �	a� |+� �� P���� ����� V�� Q�2�� A �	a� U��?�% ���;�� ����� ��a =%
Z� =% /9,� �
�M�8���A �	3+�� �� UV�� ����� T+�+% �	a� Z� JM �
�M�8���A �	3+�� *�� ��%8�

UW+��F�� $��� (M,A) �% � ��+��� ����� �	3+�� Z� �� A ����� ���-��
4��d 1��? =7 V�� ��+�+% �	a� �% *�6%�n ����� �	3+�� Z� Rn ���+	R� *�QH H9H6H6 R�S�

U�?�%F�� (Rn, I) �A�@�]�
����� W+��� ��%8� �
��D� �� F : M −→ N V?��� J��?�% ����� �����	3+��N�M ��� H1H6H6K��>J
χ̃β : Ũβ −→ Ṽβ ⊂ Rn �A�@�]�4��d �� �M *�� χα : Uα −→ Vα ⊂ Rm �A�@�]�4��d �� *��%

U�?�% ����� ��?��� χ̃β ◦ F ◦ χ−�
α : Rm −→ Rn k7�� V?��� JN *��

�� j��� Z� �� X : C∞(M) −→ R �/P �DC8& W��+�F�� �Y� �� �� M ����� �	3+�� HTH6H6 K��>J
UX(fg)(p) = f(p)X(g) + g(p)X(f) ��� W+���F�� p ∈ M =C(�

�
�M�8���A *�QHM*�� *����% ei7 ;� ��Y�� �?�% Z�M�8���A *�QHM =7 �+�7��H H:H6H6K��>J
=7F*��aF=% �?�%F�� π : E −→ M V?��� ����� =% E �����

UV�� *�6% �k *����% *�QH Z� ∀p ∈ M =⇒ E(p) = π−�(p) U 
UV�� W2+H����y�� V?��� Z� φ : π−�(U) −→ U × Rk V?��� U#

∀p ∈ M =⇒ Ep 
 {p} × Rk U!

UV�� *����% ei7 Z� E ���F$& �?�% W2+H����y3�� Z� /+� φ � ��?�% �	3+�� M � E ���
W+��F�� ���R

TpM�� X : UV�� p ∈ M =C(� �� j��� ��	�
 Z� X �
W+�� ���R ��� b�H \��6A �� T+�^�� UW+���F�� p ∈ M =C(� �� M �	3+�� ����� *�QH �� $& �

E = TM

4��:F=% �� TM $& �� =7 ��?F�� 1��KA p ∈ M =C(� ��M�	3+�� ����� ei7 =% *����% ei7 ���F$&
W+�7F�� \��6A ��;



D =���� *��+�% W+��3� U U 

TM =
∐
p∈M

TpM

UV�� *�6%��n ����� �	3+�� Z� ����� ei7
=% =7 V�� FTM ����� ei7 ;� �?�% x ∈ M =C(� �� M �	3+�� *�� *����% $��+� HUH6H6 K��>J

��?F�� T++6A ��; *F=C%�� =	+��
σ : M −→ E.

��&F�� V��% ��; 4��:F=% =7 π : E −→ M V?��� �% $& �C- k+7�A =7F*��aF=%
π ◦ σ = IdM

4��:F=% �� x ∈ M *F=C(� �� *����% $��+� $��AF�� P�< U��% ����- M �	3+�� *�� ����� V?���
V?�� ��; *;��FW�

σ 
 V |x

��H *���� x ;� ξi(x) ����� B%�A �� *��% *����% $��+� J (x�, . . . , xm) �6��� 4�@�]� ��
V |x = ξ� ∂

∂x� + ξ� ∂
∂x� + . . .+ ξm ∂

∂xm

U�?�%F��
�Y� �� ��F$& T+% F : M −→ N ����� V?��� ����� =% �� N � M ����� *���	3+�� HVH6H6 K��>J
=% =7 W+���F�� F 1+2���3�� V?��� �� dFx : TxM −→ TF (x)N V?��� x ∈ M�� *�;� =% UW��+�F��

=C%�� �% V |x ∈ TxM � f ∈ C∞(N) �� *�;�
dF (V |x)f(y) = V (f ◦ F )(x), y = F (x)

W���� �6��� 4�@�]� �� � ��?F�� \��6A
dF (V |x) = dF

(
m∑
i=�

ξi
∂

∂xi

)
=

n∑
j=�

(
m∑
i=�

ξi
∂F j

∂xi
(x)

)
∂

∂yj
=

n∑
j=�

V (F j(x))
∂

∂yj
.

U�����F�� ����%F>+� V?��� �� $& � ����F�� $��� /+� F∗ �% �� F 1+2���3�� V?���
Z� /+� [V,W ] J��F$& �8 F*F=?��7 J��?�% M �	3+�� *�� *����% $��+� �� W � V ��� HWH6H6 K��>J

��?F�� \��6A ��; 4��:F=% f : M −→ R ����� B%�A �� *��% =7 V�� *����% $��+�
[V,W ](f) = V (W (f))−W (V (f)). v U w



r ��;�+��+� � 4���(� U 

W+?�% =�?�� ��� J�6��� 4�@�]� �� T+�^��
V =

m∑
i=�

ξi(x)
∂

∂xi
, W =

m∑
i=�

ηi(x)
∂

∂xi
v#U w

W���� �l�
[V,W ] =

m∑
i=�

(V (ηi)−W (ξi))
∂

∂xi
=

m∑
i=�

m∑
j=�

(
ξj

∂ηi

∂xj
− ηj

∂ξi

∂xj

)
∂

∂xi
. v!U w

����� ���	� 
�� c′ �c 
������� � �����M 
�� 
����� 
�������� U �W � V ���� ��� H7H6H6 *��< 
������ �� �!" #�$% �� ����& �' 
�(���� )�$ *!� �� ������

�+% �� ,

[cV + c′V ′,W ] = c[V,W ] + c′[V ′,W ],

[V, cW + c′W ] = c[V,W ] + c′[V,W ′].

����-���. ,

[V,W ] = −[W,V ].

��$��/ ��01� ,

[U, [V,W ]] + [W, [U, V ]] + [V, [W,U ]] = �.

U���� 4�KS� �� b�H ��
<� $��AF�� v!U w � v#U w ;� ���3��� �% 2�����
1+2���3�� ��H���� ω : TxM −→ R �C- B%�A J�?�%M �	3+�� ;� *�F=C(� xW+�7��H H6XH6H6 K��>J
/+� ����� W� *�QH � �?�%F�� TxM ����� *����% *�QH $���� ��F��H�� *�QH UW+���F�� x ��
����� W� ei7 1+
�A W� �% ����� W� *���QH UW+��F�� >���� T ∗

xM ���� �% � ���?F�� ��+���
1+
�A M *�� �� *�6%��m *����% ei7 Z� J����� ei7 =%��� � ����F�� �� T ∗M =

∐
x∈M

T ∗
xM

�� Z� J df =
m∑
i=�

∂f

∂xi
dxi J$& 1+2���3�� JW��+�F�� �Y� �� �� f : M −→ R ����� B%�A U���F��

*��% *�F=��� J�A�@�]� B%��A ;� dxi *��F1+2���3�� x = (x�, . . . , xm) �6��� 4�@�]� �� UV�� ��H



' =���� *��+�% W+��3� U U 

4�@�]� �� ��H�� �� =��� T�� k2<�% U���7F�� W���H �A�@�]� 4��d ;� =C(� �� �� ����� W� *���QH
V?�� ��; 4��:F=% $��AF�� �� �6���

ω =
m∑
i=�

hi(x)dx
i.

U���?F��\��6A ����� *�QH *�� O����� �C- ��d ��?��� $���
 =% �A5�% *F=KA�� ;� �	+2���3�� *��F��H
V�� ��; �C-�k V?��� J x ∈ M *F=C(� �� Ω �	+2���3�� ��H�k T���%��%

JΩ :

��%−k︷ ︸︸ ︷
TxM × . . .× TxM → R

F=% x �� ��F��H�k *F=�� *�QH U��?F�� =�H�� �Y� �� �3: *F=KA�� ;� ���H $���
 =% f ���(� �(+(< B%�A
U�?�%F�� (mk ) �6% ;� *����% ���QH � ��?F�� ���� >���� ΛkT ∗M |x 4��:

$& 1+2���3�� J�?�% ����� ��?��� F : M −→ N ����� �	3+�� �� N � M W+�7 ��H H66H6H6 K��>J
��; ��H =% V�� ��?��� J dF

dF : TxM −→ TF (x)N

*��F��H�k � ��?F�� ��+��� F 1+2���3��FW� =7 ���� ��0� F ∗ ���(8� �C- V?��� k+A�A T+�� =%
J��%F�� M*�� �	+2���3�� *��F��H�k =% �� N *�� �	+2���3��

F ∗ : T ∗
F (x)N → T ∗

xM

J�?�% N *�� �6��� 4�@�]� y = (y�, . . . , yn) �M *�� �6��� 4�@�]� x = (x�, . . . , xm) ���
���F$&

F ∗(dyi) =
m∑
j=�

∂yi

∂xj
dxj

��?F�� V%�S �	7 V8�< ��
F ∗(

∑
I

αI(y)dy
I) =

∑
I,J

αI(F (x))
∂yI

∂xJ
dxJ

=7F*��aF=%



E ��;�+��+� � 4���(� U 

J = (j�, . . . , jk)
I = (i�, . . . , ik)

∂yI/∂xJ = det(∂yik/∂xjv)

U�����F�� /+� ����7F�� V?��� �� 1+2���3��FW� V?��� U�?�%F��
*�� �	+2���3�� ��H �� *����% $��+� σ � M �	3+�� *�� *����% $��+� V W+�7F�� ��H H69H6H6 K��>J

W���� ��; 1
? =% �� V =% VK2� σ �8 j��� U�?�% M

V (σ)|x = lim
x→�

φ∗
ε(σ|exp(εV )x

)− σ|x
ε

=
d

dε
|ε=�φ∗

ε(σ|exp(εV )x)

����� V (� �34� W �' 5-6� 2����� M 
�� ��$7� 
����� 
�������� W�V ���� ��� H61H6H6 *��< 
�8� W � V �' 
�(���� ��

V (W ) = [V,W ].

Ut 'u 2�����

�. ��� *3� 9H6
V�� *�6%�r ����� �	3+�� ���-�� �% G ����� *�K0 ����� J*��������r �8 ���� Z� H6H9H6 K��>J

����� 1�
 =7F*��aF=%
m : G×G → G

(g, h) �→ g · h

$���� �
i : G → G

g �→ g−�

U���2� ���	3+�� T+% ����� *��FV?���
����FP�~� JO�� 1�
 =% VK2� ��F$& $���� � ��F���A�� O�� 1�
 �% ��; �2��A�� *��F���� H9H9H6 R�S�
JV�� ��[�FX�
6� n× n *��F���A�� ���A 1��? =7 ����
 �C- 4i��KA ���� U���2� �8 *��F���� ;�

W+��F�� >���� GL(n) �% �� $& � ���F�� *�������� n� �8 ���� Z� 1+
�A



" �8 *�� ���� U#U 

JGL(n) = {X : detX �= �}
(n�−�) �8 ����Z� 1+
�A JV�� Z� $��+��A� �% ��[�F$���� *��F���A�� * =�� 1��? =7 ���� �C- ����

��?F�� \��6A ��; 4��:F=% =7 ���F�� *��������
JSL(n) = {X ∈ GL(n) : detX = �}

���6�� ����
JO(n) = {X ∈ GL(n) : XTX = I}

���� ���6�� ���� � *�������� n(n−�)� �8 ����
SO(n) = {X ∈ O(n) : detX = �}

T+H& ���� T+�^�� U�?�%F�� *�������� n(n−�)� �8 ����
A(n− �) =

{[
A a
� �

]
: A ∈ GL(n− �), a ∈ R(n−�)

}
�%��% �� s	�]� *F=�3: *�� �2��A�� *��F���� T�� *F=�� �6% =7 UV�� *�������� n(n − �) �8 ����

U��?F��
V��� ;� O�� Jg ∈ G ����� �@�
 �� *��% U�?�% �8 ���� Z� G W+�7F�� ��H H1H9H6 K��>J
W2+H����y3�� J��?F�� \��6A Rg−� = (Rg)

−� X�
6� �% Rg(h) = h.g *F=	+�� =% =7 Rg : G → G

W+?�% =�?�� G �� h � g �� *��% ��� ��?F�� ��+��� ���� ��
�3�� G *�� V *����% $��+� Z� UV��
dRg(V |h) = V |Rg(h) = V |hg

*������ *����% *��F$��+� *F=�� ;� *����% *�QH Z� G �8 ���� ;� g ���� �. �Y� HTH9H6 K��>J
U�?�%F�� G *�� V���

�C- �� ��	�
 �% g *����% *�QH J�8�K0 J�AF����
 ��aF=%
[ , ] : g × g → g,

U��7F�� b�: �8F*F=?��7 ���- �� � ��?F�� ��+��� �8 F*F=?��7 =7 V��
UW+�7F�� 1�
 1
? T+�� =% /+� �d �8�K0 � �d *������ *����% *��F$��+� \��6A *��%

1�
 M *�� =7 �>$%� 4Z��YJ *3� Z� U�?�% ����� �	3+�� Z� M W+�7F�� ��H H:H9H6 K��>J
{e} × =7F*��aF=% V�� ���� 1�
 \��6A �;�< =7 U ;�% =
��,���; JG �8 ���� Z� *F=	+��F=% ���7F��

V�� ��; *��FV+:�- *���� � ��?F�� ���� Ψ : U → M ����� V?��� � M ⊂ U ⊂ G×M



 p ��;�+��+� � 4���(� U 

Ψ(g,Ψ(h, x)) = Ψ(g.h, x) �l� (g.h, x) ∈ U T+�^�� � (g,Ψ(h, x)) ∈ U , (h, x) ∈ U ��� v\8�
U

U Ψ(e, x) = x J x ∈ M �� *��% vO
U Ψ(g−�,Ψ(g, x)) = x � (g−�,Ψ(g, x)) ∈ U �l� (g, x) ∈ U ��� vf

4Z��YJ *3� �8& 6H9H6
�� u = f(x) B%�A UW+��F�� x+��A �� g ∈ G ����� �@�
 V�A u = f(x) B%�A 1��KA *F���� �,��� ��
\��6A �;�< Ω JW��+�F�� �Y� �� �� Γf = {(x, f(x)) : x ∈ Ω} ⊂ X × U 
 Rp × Rq $& e��� �%
f B%�A e��� ��� U�?�%F�� X × U ;� *�6%−p *�	3+����; Γf =7 �+�7 =0�A UV�� u = f(x) B%�A

V�� ��; 4��:F=% g *F=	+��F=% Γf 1��KA J�?�% g 4i��KA ���� \��6A �;�< ;� *�F=
��,���;
g . Γf = {(x̃, ũ) = g . (x, u); (x, u) ∈ Γf}

1�
 ����� ��aF=% G $�d J��0� T�� �% UV2+� ũ = f̃(x̃) 1~� *���� B%�A e��� 5��6� g.Γf *F=
��,�
\��6A *F�;�< $��7 ����� � k���� \��6A �% J���[�F�� �++�A $��% �� Γf JG ����� �@�
 � ��7F��
e��� g . Γf = Γf̃ W��?F�� Ty�C� J����� �@�
 ����2�� �� g �@�
 *��% ��� $& (Ω) f ��6� Jf B%�A
UW+���F�� g *F=	+�� =% f B%�A 1��KA �� f̃ B%�A � f̃ = g . f W+2���F�� � V�� ũ = f̃(x̃) ����� *���� B%�A

W+�7F�� ��H �	7 V8�< ��
(x̃, ũ) = g . (x, u) = (Ξg(x, u), φg(x, u)),

��? �� ���� ��; 45��6� *F=	+��F=% g . f ;� Γf̃ = g . Γf e��� U��?�% ����� �6%��A Ξg � φg =7

x̃ = Ξg(x, f(x)) = Ξg ◦ (I× f)(x),

ũ = φg(x, f(x)) = φg ◦ (I× f)(x), x ∈ Ω

*��% $�d UW+�7 e[< 5�% 45��6� ������ ;� �� x���% UV�� X *�� ����� B%�A I � x ∈ Ω �0 T�� ��
��? Z��/� ����� �@�
 =% �H�7 �;���� =% g =7F�A��:�� W+���F�� � Ξg ◦ (I × f) = I W���� g = e

�6��� ��aF=% X�
6� B%�A *F=+QR *F=	+�� =% �� T�� ;� JV�� T+
A�+L Ξg ◦ (I × f) T+%�7�M ���A��
W���� x *��%

x = [Ξg ◦ (I× f)]−�(x̃).



  �8 *�� ���� U#U 

UV�� =K���� 1%�R ũ J�?�% ��[�F$���� ��� 1��
 ����� �[8
ũ = g . f(x) = [φg ◦ (I× f)] ◦ [Ξg ◦ (I× f)]−�.

��? 1��KA 1(�2� �+��� s(H V�� T
�� ����� �Q6% ��
(x̃, ũ) = g . (x, u) = (Ξg(x), u),

W+�7 e[< �� x W+���AF�� ����& =% U��?F�� \��6A Ξ−�
g = Ξg−� �% � V�� X ;� W2+H����y3�� Z� Ξg =7

x̃ = Ξg(x)

⇒ x = Ξ−�
g x̃ = Ξg−� x̃.

T���%��%
f̃(x̃) = ũ = u = f(x) = f(Ξg−� x̃).

UW��%F�� ��
% ��; P�~� �� �� ��? =�3� k8�C� P�<
G 4i��KA U�?�% X × U 
 R� *�� ��F$���� ���� 1�
 G = SO(�) W+�7F�� ��H HUH9H6 R�S�

���?F�� ���� >���� ��; 4��:F=%
(x̃, ũ) = θ . (x, u) = (x cos θ − u sin θ, x sin θ + u cos θ). vqU w

4��:F=% f *�� SO(�) ���� UV�� Γf ⊂ X × U $& e��� =7 J�?�% B%�A Z� u = f(x) �+�7 ��H
e��� θ.Γf ���F$& cos � sin B%��A $��% O����� =% =0�A �% J�?�% N�/% θ ��� U��7F�� 1�
 f e��� $����
N�/% �	+- |θ| � �?�% ��? \��6A a ≤ x ≤ b ������ *F�;�% *�� f(x) ��� ��� U��% ����]� *���� B%�A

U�?�%F�� Γf̃ = θ.Γf =7 ��% ����- ũ = f̃(x̃) \��6AFg�- B%�A e��� θ.Γf ����& �?�K�
$���� T���%��% UV�� W+(�2� s- Z� f e��� UW��+�F�� �Y� �� �� u = f(x) = ax+ b �C- B%�A

UW+%��F�� �� v f̃ ��6�w θ V�A f 1��KA P�< U��% ����- ���� W+(�2� s- Z� θ =���; �% $&
(x̃, ũ) = θ . (x, ax+ b) = (x cos θ − (ax+ b) sin θ, x sin θ + (ax+ b) cos θ).

W+�7 e[< 5�% 45��6� V30 ;� �� x ���% ũ = f̃(x̃) $��7 ��+� *��%

x̃ = x cos θ − (ax+ b) sin θ,

⇒ x =
x̃+ b sin θ

cos θ − a sin θ
.



 # ��;�+��+� � 4���(� U 

W���� cot θ �= a ��H �%

ũ = f̃(x̃) = x sin θ + (ax+ b) cos θ

=
x̃+ b sin θ

cos θ − a sin θ
sin θ +

(
a

x̃+ b sin θ

cos θ − a sin θ
+ b

)
cos θ

UUU
=

sin θ + a cos θ

cos θ − a sin θ
x̃+

b

cos θ − a cos θ
.

U�? �C- �6%�A ���%�� θ V�A f 1��KA =7 W+�+%F��
�	3+�� ;� P��+�+� �9A�+L *����������� *F=
��,���; J�6��� 4i��KA ���� ;� ����Z� HVH9H6 K��>J

��7 b�: ��; s���? �� =7 V�� ���� �A��: �� O ⊂ M J���� 4��K
F=% U�?�%F�� M
UV�� g.x ∈ O �l� J�?�% ��? \��6A g.x � g ∈ G Jx ∈ O ��� v\8�

U�?�%F�� �9A Õ �� Õ = O �� �l� J��7 b�: 1KR >]% �� Õ � Õ ⊂ O ��� vO
U��7F�� 1�
 M *�� =7 �?�% �6��� 4i��KA ���� Z� G W+�7F�� ��H HWH9H6 K��>J

�6% *���� M ;� *�	3+����; $���
F=% $& *������ =�� ��� ��7F�� 1�
 G[��\G�� ��aF=% G ���� v\8�
U��?�% $�2
�

x ;� U ���]8� Zd�7 ����2�� x ∈ M =C(� �� *��% � ��7 1�
 G[�� G�� ��aF=% G ���� ��� vO
W+2(A *�+2� ��K�� *��F=
��,���; =% �� U JG ;� ���� �� =7 V+:�- T�� �% �?�% =�?�� ��0�

U��7F�� 1�
 WY�� ��a =% G ���� W+��� ��7
�A��3�� *��F1�
 J4��3�� ����� �:��
 ��� ��7F�� 1�
 �]%� ��aF=% G 4i��KA ���� H7H9H6 K��>J

U g = h ��� �9�A � ��� g.x = h.x W+?�% =�?�� x ∈ M �� *��% =7F*��aF=% J��?�% =�?��
�?�%F�� G ;� =�2% P���� ������; =7 GM = {g | g.x = x, ∀x ∈ M} *����� ����A�/�� ������;
UGM = {e} ��� �9�A � ��� ��7F�� 1�
 �S�� ��a =% G =7 ��6� T�� =% ���F�� $��� �� G 1�
 $��% �S��
��7F�� 1�
 G ����� M *�� �S�� ��aF=% =7 G

GM
���2RFf��- ���� �% ���& ��
� 1�
 �S�� ��aF=% FG ���

v�6���w ��aF=% �� ���� 1�
 *F=�� =7 W+�7 ��H W+���AF�� �	7 V8�< �� T���%��% UW+�7F�� T�/���0
*����� ����A�/�� ������; ��� ��7F�� 1�
 �S�� �6��� ��aF=% G �8 ���� W+.��F�� U���7F�� 1�
 �S��

U�?�% G ;� =�22� �������; GM



 ! �8 *�� ���� U#U 

�?�%F�� x = φ(ε) ����� *������� ����� JV *����% $��+� Z� ;� R��D
�� ��#�� H6XH9H6 K��>J
��6� J�?�% �%��% =C(� $& �� V ���(� �% ����� =C(� �� �% X��� ����% =7F*��aF=%

φ̇(ε) = V |φ(ε), ∀x ∈ R.

�8��6� 1+2���3�� =8��6� W�2+� ;� �%��0 x = φ(ε) = (φ�(ε), · · · , φm(ε)) F���% �6��� 4�@�]� ��
V�� ��;

dxi

dε
= ξi(x), i = �, · · · ,m vDU w

U��?�%F�� x �� V k���� �� ξi(x) $& �� =7
��[�F�� M �� x =C(� ;� =7 *������� T+�+% P������ ����� J�?�% *����% ����+� V ��� H66H9H6 K��>J

UW+���F�� V =	+�� =% ��? �+8�A ��� �� Ψ � W+��F�� $��� Ψ(ε, x) �% ��
����[� P������ ����� *�� *�F=C(� Ψ(ε, x) J�3: 1��? Ix *F�;�% �� ε �� � x ∈ M �� *��% T���%��%

V�� ��; *��F����� *���� ε, δ ∈ R �� *��% *����% $��+� ��? U��% ����- M �� x ;�
Ψ(δ,Ψ(ε, x)) = Ψ(δ + ε, x), x ∈ M, vrU w

Ψ(�, x) = x, v'U w
d

dε
Ψ(ε, x) = V |Ψ(ε,x) vEU w

$��+� *F=	+�� =% ��? �+8�A ��? =7 W+�+%F�� �6��� ���� ����� �% v'U w � vrU w ����� �� *F=2��(� �%
4i��KA ;� *��������� ���� k	L� � V�� $�2
�M �	3+�� *�� R �8 ���� �6��� ���� 1�
 �% *����%
�� ��	+A *F=+QR *F=	+�� =% �� T�� ;� J��?F�� ��+��� 1�
 I,%� ���0���� �.%� JV *����% $��+� �

W���� �6��� 4�@�]�
Ψ(ε, x) = x+ εξ(x) +O(ε�),

M *�� =7 �?�% 4i��KA ;� *��������� ���� Ψ(ε, x) ��� U���2� V k���� ξ = (ξ�, · · · , ξm) =7
U��&F�� V��% ε = � $������R �% vEU w *F=	+��% $& Zd�7 V��9�F�% �8�� J���7F�� 1�


V |x =
d

dε

∣∣
ε=� Ψ(ε, x). v"U w

��0� ��F$& Zd�7 V��9�F�% *���8�� � 4i��KA ;� �6��� *��������� *��F���� T+% Z�F=%FZ� *�n��A
����� V?��� $���
F=% V *����% $��+� *F=	+�� =% ��? �+8�A *��������� ���� �� ��? *F=K���� k	L� U����

*��[����� T���%��% J��?F�� =�H�� �Y� �� ��F$&
exp(εV )x ≡ Ψ(ε, x),

UW��%F�� ��7 =% V *����% $��+� *F=	+�� =% ��? �+8�A ��? �� *��������� ������; *��% ��



 q ��;�+��+� � 4���(� U 

U��F$& ��? � *����% *��F$��+� ;� ����FP�~� H69H9H6 R�S�
1�
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W��+�F�� �Y� �� =�3: �� �� ��F$���� ���� vO
Ψ(ε, (x, y)) = (x cos ε− y sin ε, x sin ε+ y cos ε).

W���� v"U w jKa =7 �?�%F�� V = ξ(x, y)∂x + η(x, y)∂y *����% $��+� $& Zd�7 V��9�F�% �8��
ξ(x, y) =

dx

dε

∣∣
ε=�(x cos ε− y sin ε) = −y,

η(x, y) =
dx

dε

∣∣
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